165

M
| C B(r)
ol ¢ dlx(r—r")
B(r)= M.1
(") 4r ﬁ? [r—r'f
Lo = 4r <107 [H/m]
M.1 p=Sd=a
B,=0
B zﬂol Ssin(¢ —a) M.2
7 21 [S?+ p? —2Spcos(g—a)|
B, - 4! > SSOS(¢_a)_p M.3
27 |S?+ p? —2Dpcos(p—a)|
[80] p=0 B,=B,=0,B, =l /27p
z=A R p=0
B, =0
2 2 _ 2
B, = Ao L IZX{K(k2)+ R-p —(z= A E(kz)} M.4
27 [(R+ p)? +(z- A2 (R-p)* +(z- A)

Mo z-A
Bp = 2 2 2 /12
7 [(R+ p)? +(z- A2[

[80] K(k?), E(k?)

(R-p)*+(z-A)°

{-K(kz)+ RT4p" + (2= A’ E(kz)} M.5

k2

Q) = [P By = [ g
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argument

k2 — 4Rp
(R+ p)> +(z- A)?

p=0 K(0)=E(0)=7/2 B =0

B :,Uol R?
2 [RR+(z-A?]

3/2

M.7 gradient

dB, 31, IR?(z— A)

dz 2R+ (z-A)?)]

5/2

d’B, _ 3u,IR? 15 (z- A)?
dz> 2R +(z- N[ R®+(z- A

Z=1A |
M.9 A=R/2 z=0 B,'=B,"=0

Helmholtz configuration

B
B,(0,0,z) z=0 B, >0 z=0
B,(0,0,2) =B, +B,z*/2
VZBaxiaI =0

M.6
M.7
curvature
M.8
M.9
M.8
BZ 0,0, 2
Baxial V- Baxial =0

Vx(VxB)=V(V-B)-V°B

VxB=0,V-B=0
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0 B’ - Xz
Boa = By O|+—F ~yz 10
1 z° —l(x2 +vy?)
2
X
Biia =B,| — Y 11
0
X=y=2z=0 B,
IP: loffe-Pritchard B [79,80]
0 X B’ - Xz
Bp=B,|0|+B,| -y +7Z ~yz M.12
1) Lo) Tz-Zee+y

Bo>>B,'0p pE\/X2+y2 |Bie |

|Bp |;%[B;,p2+B;zz] M.13
. B? )
B, ZE/?_% M.14
IP
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M
F=S+L+1 F B(r)
AE(r) *
AE(r) = geMe s | B(1) | M.15
Ok g- H H.10 me
Ug =1AMHZ/G]
o M.13
IP gem. >0 3
IP
V(r) = 1 [B" 2. B 2]
(1) =5 9eMe 115]B, p" + B,Z M.16
87Rb |F,m. >=|2+2> g =1/2 |1-1> g9, =-1/2
g-.m- >0
M.16 3 axial
radial 0w, o,
a)v = M (V — Z, p) M.17
\ m
m 87Rb

m=87x1.66x107°"[kg], g = 9.27x107**[JT]

do/dt @ amor = 9 Me p2g | B(r) [ /72
m

*%

M.15 Rb|1-1>
500 [G] H  H1



wV:Zﬂx{

1.27,/B [Glcm?] [HZ]
0.90,/B [Glem?] [HZ]

V(r) :%m[a)f)pz +a)2222]+ mgz

Az =

N N

| 2,42 >
|L,-1>

9.79763[m/s?]

1998
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M.18

M.19

M.20

M.21
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